Mathematics (NSC)/Grade 10/P1 81 Exemplar
MEMORANDUM

Gradel0 Mathematics: Memorandum Paper 1

1.1 0,09 v 1] 41 B lives closer to Johannesburg. v The y-
12 62 =36 intercept of B is less than the y-intercept of
72=49v Av 2
4.2 A traveled faster. v The gradient of graph 4
\/@ lies between 6 and 7 v 2 is steeper than the gradient of graph B v
131 -3<x<4vv 2 A covered a greater distance in the same
132 -2v 1 time as B v 3
141 x(x—3)v v 2 5.1.1 '
142 (2x+1D)x—3)v v 2
143 xX—1-y—xy
=x+DHx—1D—yEx+1)v v ;
=x+Dx—-1-y)vv 4 s
144 (x+2)*—2x+4)v v 2 ¢
1.51 a=2v 1 f .
1.52 A=Q270%-2) v v 2 3 R
1.53  360° 1 3
1.54 y=2sinx+1v 1 :
211 (FP—dx+4)(x+2)v g
=x’+ 2 4x’ — 8x+4x+8v 5
=X’ —2X—4x+8v 3
212 sa=3)-2x+D v v v for parabola
10 v v v for straight line 6
_xo A2 512 3<x<3
17 10 5.1.3  h(x) on graph v v 2
=0 ¥ 4| 514 h(x)=x"—9v v
213 ¢! 3 521 4=d'v
o “Fxay Y 2=av 2
23! 522 B=@W2;42)vv )
R PN
s o 523 C=(0;1) v v 2
=273 524 D=Q2)v v 2
—23'=3 . 4| 525 @) 2
221 ¥-x—6=6v 526 y>0;yeRv 1
e 2 17— 6.1 52=125
SxX—x—12=0v 3
(= 4)(x+3)=0v =125
Sox=4o0r x=-3vv 5 S2<x<3v . .
200 PEtl_ns There must be some evidence of trial and
x4 1=5v error with the use of a calculator. v
=4 x=2,7v 3
Lx=2v 3 %21 | prea 2 | 4] 6| 8|20/ 8
3.1.1 R736v 1
312 10v 1 2‘;’2?}2;“ 7 |12 |17 | 2| 27| 207
3.1.3  R600 + 0,06472 v v v R 4
~¥9270 v
OR 5
R600 x 15,4504 6.2.2 5(2”)+2=5n+2 v v 5
~¥9270 2 | 711 264
3.1.4 R600 + 14,61 v 7.12 572
~£41v 7.1.3 693 v 1
OR 7.2 You insert the sum of the two digits of the
R600 x 0,0684 two-digit number between the two numbers
~£41 2 to get the answer. v v v 3
32 A=p(l+i)'v 7.3 Students’ examples and justification of their
i=0,056+12=0,00467 v conjecture. v v v 3
n=3x12=36v 7.4 11x(10x+y)=100x+ 10(x + y)+ yv v
A=R5000(1 + 0,00467)*° v v LHS: 110x + 11y v
=R5913,08 v 6 RHS: 100 x + 10x+ 10y +y=110x+ 11y v 4
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